Version Code SUBJECT CODE : 5 8
A QUESTION BOOKLET
GENERAL STUDIES
Time Allowed : 12 Hours Maximum Marks : 200
INSTRUCTIONS

Immediately after the commencement of the Examination, before writing the Question
Booklet Version Code in the OMR sheet, you should check that this Question Booklet
does NOT have any unprinted or torn or missing pages or questions etc. If so, get it
replaced by a complete ‘Question Booklet’ of the available series.

Write and encode clearly the Register Number and Question Booklet Version Code
A, B, C or D as the case may be, in the appropriate space provided for that purpose
in the OMR Answer Sheet. Also ensure that candidate’s signature and Invigilator’s
signature columns are properly filled in. Please note that it is candidate’s
responsibility to fill in and encode these particulars and any omission/discrepancy
will render the OMR Answer Sheet liable for Rejection.

You have to enter your Register Number in the Register Number
Question Booklet in the box provided alongside.

DO NOT write anything else on the Question Booklet.
This Question Booklet contains 100 questions. Each question contains four responses
(choices/options). Select the answer which you want to mark on the Answer Sheet.
In case you feel that there is more than one correct response, mark the response which
you consider the most appropriate. In any case, choose ONLY ONE RESPONSE for each
question.

All the responses should be marked ONLY on the separate OMR Answer Sheet provided
and ONLY in Black or Blue Ballpoint Pen. See instructions in the OMR Answer Sheet.
All questions carry equal marks. Attempt all questions.

Sheets for rough work are appended in the Question Booklet at the end. You should not
make any marking on any other part of the Question Booklet.

Immediately after the final bell indicating the conclusion of the examination, stop
making any further markings in the Answer Sheet. Be seated till the Answer Sheets are
collected and accounted for by the Invigilator.

Questions are printed both in English and Kannada. If any confusion arises in the
Kannada Version, refer to the English Version of the questions. Please Note that in
case of any confusion the English Version of the Question Booklet is final.

Use of Mobile Phones, Calculators and other Electronic/Communication
| gadgets of any kind is prohibited inside the Examination venue.

58-A ” |||||||||I|| | ‘l" ||| MBS ¢ RO FIE Sigdoty & T YYFad Logpnad SERUES




58

e‘i)docg &%&5@ 23ORETHET  RT®E
%@ﬁ%ﬁo GADIMEADIA V3 a30ees
QOBTOT 22) SODRII, TN
27 ROBOBNED ToNw 17 RIOE°
Ned e3P, e WYY
TORD 2.0TRROW 23 RI0ENPE
TOLNEEE. TGS WINY RWeNT

IS

(a 1:3
(b) 3:2
(c) 3:4
(d) oYTe ¥

393 (A) 1 TIOTW WODER 2IPTITE
SEREE - N V)
BROOTE BRBTNT.

T (R) : MO IO PTIT
¥ W), B03ReETTIOOINT

SRO3PNT.
3PN '&@%ﬁaﬁ BoTEBNPOT
AOOINT YVSTHTR, WOAD.

(@) (A D R) ATER FO DR
(A) T} (R) ROO3DT N&TH.

(b) W) ZH R) ATER HD DR
(A) I} (R) ROOTT DTTBODY.

(C) (A)RDOIPNT STT (R) B,

(d) ® P, 803 (A) =D 03N

2-A)

‘INTERPRETATION" e,

To0FC 3TN

‘GPRGPRPGRCRKMP’ o
T O3NT) TITT, L2T3C DESO

#o3e3n® ‘CORRUPTION’ e,
TETY WTOVWIOT ?

(a) AQPTWNVGQL

(b) APQUWNUHPM

(c) APTQWMUHRL

(d) AQTUVNUGQL

3UNS T 1 By THIR T 11 oD
BRO0OY FYNT BOOINT %’o%esw@l
e3c>336 DNE.

Be-1 Fe-11
A. ®d8QT® 1. o,
B. 28390 2. eS0T
C. Qs 3. BeR oD
D. 23390° 4. 3w

5. oeongd

A B C D
(a) 2 4 1
b 3 1 2 5
c 4 5 2 1
@ 3 4 1 5



58

Two trains running in opposite
directions, cross a man standing
on the platform in 27 seconds
and 17 seconds respectively and
they cross each other in 23
seconds. Therefore the ratio of

their speed is

(@ 1:3

(b)y 3:2

(c) 3:4

(d) None of these

Assertion (A): Ganga
plain is the most densely

populated part of India.

Reason (R) : Ganga is the most
harnessed river of India.

(a) Both (A) and (R) are true
and (R) 1s the correct
explanation of (A).

(b) Both (A) and (R) are true
but (R) is not a correct
explanation of (A).

(c) (A)is true, but (R) is false.

(d) (A) is false, but (R) is true.

@3-

A)

In a certain code

‘INTERPRETATION’ is written
as ‘GPRGPRPGRCRKMP’ how
is ‘CORRUPTION’ written in

the same code ?

(a) AQPTWNVGQL
(b) APQUWNUHPM
(c) APTQWMUHRL
(d) AQTUVNUGQL

Match the following List — I
with List —II :

List - I List - IT
A. Sericulture 1. Grapes
B. Silviculture 2. Honeybees
C. Viticulture 3. Silkworms
D. Pisciculture 4. Forest

5. Fishes

Codes :

A B C D
@ 2 5 4 1
® 3 1 2 5
c 4 5 2 1

@ 3 4 1 5
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Justice G. Rohini has become
the first Woman Chief Justice of
which High Court ?

(a) Mumbai High Court
(b) Delhi High Court

(c) Karnataka High Court
(d) Madras High Court

Which of the following rivers
crosses the equator twice ?
(a) Nile (b) Mississippi

(c) Congo (d) Thames

From a fixed place, Rama walks
a distance of one km towards
north then turns to his left and
walks for 3 kms. He again turns
5 kms.

he from the

left and walks How
many kms 1is
starting point ?
(a) 5kms

(¢) 4kms

(b) 3 kms
(d) 2kms

The study of tissues is called

(b) Embryology
(d) Pathology

(a) Cytology
(c) Histology

(5-A)

10.

11.

Who among the following is the
Indian who has been awarded

‘Nobel Peace Prize’ for the year
2014 7

(a) Baba Amte

(b) Kailash Satyarthi
(c) Medha Patkar
(d) Arundhati Roy

Which of the following is the

name of the ‘International

Airport’ located in Bengaluru ?

(a) Bengaluru International

Airport
(b) Basaveshwara

International Airport

(c) Kempe Gowda

International Airport

(d) Indira Gandhi International
Airport

The recently launched Space-
Ship by India is called ‘MOM’,
what does MOM stand for ?

(a) Mars Orbiter Mission
(b) Mission to Orbit Mars
(c) Mercury Orbiter Mission
(d) Mars Odyssey Mission
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List— A List- B
(Player) (Event)

1. Somdev A. Discus
Devverman

2. Abhinav B. Badminton
Bindra

3. Saina C. Tennis
Nehwal

4. Vikas D. Shooting
Gowda

Codes :
1 2 3 4

@@ D C A B

() C D B A

0 A B C D

@ B C D A

The expansion of ISRO is

(a) Indian Space Research
Organisation

(b) International Space
Research Office

(c) International Sky Review
Organisation

(d) Indian Shuttle Research

Organisation

(7-A)

14.

15.

Match the following :
List— A List- B
(Person) (Won Nobel
Prize for)
1. Mother A. Physics
Teresa

2. Rabindranath B. Peace

Tagore
3. Sir C.V. Raman C. Economics
4. Amartya Sen  D. Literature
Codes :

1 2 3 4
@ A B C D
® C D B A
¢ D C A B
@B D A C

Which of the following is false ?

(a) World — 16" September
Ozone Day

(b) World — 21* November
Television
Day

(c) World — 29" September
Heart Day

(d) World — 21" December
AIDS Day
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Bamboo species flowers
(a) every year throughout life

time

(b)

only once in life time
once in 12 years

None

(d)

Saalumaradha thimmakka has
planted and nurtured many trees

on the road sides between

(a) Kudur and Hullena halli

(b)

Kudur and Honnapura

(c) Kudur and Hebburu

(d) Kudur and Hulikal

Lichens represent an intimate

mutualistic relationship between

(a)

Fungus and Bacteria

(b)

Fungus and Ferus

(c) Fungus and Algae

(d)

Fungus and Virus

©-A)

19.

20.

21.

Identify the incorrect statement /
statements related to

hydroponics.
1. Soil is not required.

2. Water requirement is very
high.

3. Yields are stable and high.

4.  Plants grow much healthier.

Options :
(a) 4and?2 (b) 2only
(c) 3and4 (d) None

Genetically modified golden

rice plant 1s

1. Vitamin C enriched.
2. Vitamin D enriched.
3. Vitamin A enriched.

4. Vitamin B enriched.

Options :
(a) land4 (b) 2and4
(c) 3only (d) 4 only

One of this is a Dicotyledon.

(a) Mustard (b) Ragi

(c) Paddy (d) Coconut
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Match the following under the
List — I and List — II, select

the correct answer :

List—1 List — 11
A. Fat 1. Goitre
B. Protein 2. Phyrenoderma

C. Vitamin A 3. Marassmus

D. Iodine 4. Night

blindness
Codes :
A B C D
@ 1 2 3 4
b) 3 1 4 2

c) 4 2 1 3
d 2 3 4 1

Which one of the following

plants, root nodules having

Rhizobium bacteria ?
(a) Pea

(b) Maize

(c) Banana

(d) Sugarcane

24.

25.

(11 - A)

In the recent years, there has
been an increasing incidence of
floods in the plains of northern

India because

(a) there has been an increase

in annual rainfall.

(b) the rate of silting of dams

has gone up.

(c) there has been increased
deforestation n the

catchment areas.

(d) increased areas of land is

being self cultivated.

In the following which is the

correct statement ?

P. The plants growing in the
Himalayan ranges, the rate

of transpiration is low.

Q. The plants

desert the rate of

growing in

transpiration is high.
(a) P —true, Q—true
(b) P —true, Q —false
(c) P —false, Q—true
(d) P —false, Q — false
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While
objects the lens of our eye
this
capacity of adjustment of lens is

seeing far and near

decreases and increases,

called as
(a)
(b)
(c)
(d)

Movement of Eye
Adjustment of Eye
Vibration of Eye

Accommodation of Eye

‘Emergency Hormone’ and

‘Personality = Hormone’  are
secreted from the following

endocrine glands :

(a) Adrenal and Pituitary
gland

(b) Pituitary and  Thyroid
gland

(¢) Adrenal and Thyroid gland

(d) Thyroid and  Pituitary
gland

Lymph differ from blood in the
absence of

(a) White blood cells and
Protein

(b) Red blood cells and
Plasma Protein

(c) White blood cells and

Platelets

Red blood cells and White
blood cells

(d)

(13-A)

29.

30.

31.

In which of the following

diseases platelet count get

reduced to one lakh cubic

millimetre of blood ?

(a)

Dengue

(b) Syphilis

(c) Chicken gunya

(d) Hepatitis

In the year 1924, at which of the

following  place, = Gandhiji

presided the Congress Session ?
(a) Mysore (b) Shimoga
(c) Bijapur (d) Belgaum

The first newspaper was started

in Calcutta

Amrit Bazaar Patrika

(a)
(b) The Bengal

(©)

Mangalura Samachara

(d) Bengal Gazette
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Who was regarded with title

“Navakoti Narayana” ?

(a) Chikkadevaraja Wodeyar
(b)
(c)

Krishnaraja Wodeyar IV

Kantirva Narasaraja
Wodeyar

(d) Krishnaraja Wodeyar III

Which were the trading centres
of the English East India
Company ?

(a)
(b)

Goa, Diu, Daman, Salsette

Pondicherry,
Chandranagar,

Machalipatanam

Broach, Kasim

(c) Agra,

Bazar, Calcutta

Surat, Cochin, Basur,

(d)

Machalipatanam

Which among the following
Dewan established NIMHANS
National Institute of Mental
Health and Neuro Surgery in
Bengaluru ?

(a) Sir M. Vishveswaraya

(b) Sir Mirza M. Ismail

(c) K. Sheshadri Iyer

(d) Dewan Rangacharlu

(15-A)

3S.

36.

Match the List — I with List — I :

List -1 List — IT
A. Krishna- 1. Prabhulin-
devaraya galile
B. Gangadevi 2. Vardhambika
parinayam
C. Chamarasa 3. Jambhuvathi
Kalayanam
D. Thiruma- 4. Madhura
lamba Vijayam
Codes :
A B C D
@ 4 3 2 1
b 1 2 3 4
c 3 4 1 2
@d 3 2 4 1
Upon grant of pension by
British, he gifted them
Kohinoor diamond, which

adorns the British Sovereign’s
crown even today. Which Sikh
King was he ?

()
(b)
()
(d)

Ranjit Singh
Lala Singh

Dulip Singh
Gulab Singh
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In which war Tipu had

surrendered half of the territory

and also surrendered his two

sons ?

(a) The First Anglo — Mysore
War

(b) The Second Anglo — Mysore
War

(c) The Third Anglo — Mysore
War

(d) The Fourth Anglo — Mysore
War

Among the following reformers
the person who can be called
“the Pioneer of the Social
Revolution™ ?

(a) Ramananda

(b) Madhawa Charya

(c) Basavanna

(d) Shankaracharya

Which one of the following

statement is correct ?

(a) The founders of the Ganga
dynasty claimed their
descent from the Ikshvaku
dynasty.

(b) The founders of the
Kadamba dynasty claimed
their descent from Soorya
dynasty.

(c) The founders of the
Pallava dynasty claimed
their descent from Chandra
dynasty.

(d) The founders of the
Shatavahan dynasty
claimed their descent from
Agnikula dynasty.

40.

41.

42.

43.

(17 - A)

The Capital of Kadamba was
(a) Talakadu

(b) Dwarasamudra
(c) Banavasi

(d) Tanjavore

The

Karnataka 1s called

Coastal Railway of

(a) Konkan Railways

(b) Karavali Railways

(c) Metro Railways

(d) South-Western Railways

The average density of
population per sq.km. in
Karnataka is

(a) 318 (b) 319

(c) 320 (d) 321

water-fall 1s called

Niagara of Karnataka.
(a) Jog falls

(b) Gaganachukki and
Bharachukki

(c) Gokak falls
(d) Kalhatagiri falls
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ahead of
Greenwich mean-time by

(a) Five and half hours
(b) Six and half hours
(c) Four and half hours
(d) Five hours

Indian time is

Name the National Highway

between Mumbai and Bangalore

is .

(a) The Golden Quadrilateral
Highway

(b NH1

(c) NH3

(d NH13

Consider the
statements :

1. Indira
Nicobar

following

point of Great

Islands is the

southern most point of India.

2. India’s geographical area is
17.64% in

geographical area.

world’s

3. India is sharing highest land
border with Bangladesh.

4. Tropic of Capricorn which
passes through middle of
India.

Which of the above statements

are correct ?

(a) land?2

(c) 1,2and3

(b) 2and3
(d land3

47. Which of the following soils is

also known as “Regur” soil ?
(a) Black soil

(b) Lateritic soil

(c) Alluvial soil

(d) Red soil

48. Consider the

statements regarding of Rivers :

of West
Bengal — Hugli River

following

1. Sorrow river

2.  Sorrow river of Bihar —

Gandak river

3.  Sorrow river of Odisha —

Brahmani river

Which of the above statements

are wrong ?

(a) 1and?2

(b) 2and3

(c) 1only

(d) All the above

49. The type of soil found in South

maidan region of Karnataka.
(a) Black soil

(b) Red soil

(c) Lateritic soil

(d) Alluvial soil

(19-A)
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According to 2011 Population
the

highest sex ratio found in which

Census 1n Karnataka,

of the following district ?
(a) Udupi

(b) Dakshina Kannada
(c) Uttara Kannada

(d) Bengaluru (rural)
The

Banduri canal is regarding to

controversial ~ Kalasa-
which of the following river ?
(a) Malaprabha

(b) Ghataprabha

(c) Hemavati

(d) Mahadayi

One of the following pair is
wrong, choose and write :

(a)
(b)
(c)

Narmada — Amarkantak
Tapti — Multai
Godavari —
Mahabaleshwara

(d) Sutlej — Lake Rakas

Which of the following forest of
Saurashtra is the natural habitat
of the Lion ?

(@)
(b)
(c)
(d)

Champakadama
Shantivana
Chitrakut

Gir forest

21 - A)

54.

5S.

56.

The rainfall occurs in few
places in India during Summer,

the reason 1s
(a) and

local heating

convection current
(b)
(c)
(d)

increase in temperature
long days

distance from the sea

The monsoon winds begin to

retreat after mid-September
because
(a) The temperature increases

and pressure decreases.
(b)

The temperature decreases

and pressure increases.

The North-East Monsoon

winds begin to start.

(c)

(d)

Rainy season begins to

start.

India has a variety of wild life

and bird life because of
(a)
(b)

Government policy

Varied climate and Natural

vegetation
Dense forest

(©)
(d)

Wild life sanctuaries
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Yashaswini  programme in

Karnataka provides
(a)
(b)
(c)
(d)

better education facilities
better job facilities
better food facilities
better health facilities

Agumbeghat links
(a)
(b)
(c)
(d)

Shimoga and Kundapur
Shimoga and Udupi
Hassan and Mangalore
Mangalore and
Chikmaglur

Which place in Karnataka is
known as ‘Granary of Togari
(toor) ?

(a) Bijapur
(c) Gadag

(b) Gulbarga
(d) Bidar

Match the following ‘A’ with
‘B’.
matches from list ‘C’ :

Identify the group that

List— A List- B
1. Magnatite A. Manganese
2. Hatti B. Bauxite
3. Kumsi C. Gold mine
4. Khanapur D. Iron ore
List-C:

1 2 3 4

@ D B C A
(b)) C A D B
c) A C B C
@B D A D

(23-A)

61.

62.

63.

The Supreme Commander of

the Armed forces in India
(a)
(b)
()
(d)

The Prime Minister
The Commander in Chief
The President of India

Minister of Defence

Which of the following pairs are

not correctly matched :

List— A List- B
(State/Union  (Seat of High
Territory) Court)

(a) Uttarakhand 1. Nainital

(b) Daman &
Diu

2. Ahmedabad

(c¢) Arunachal
Pradesh

3. Gauhati

(d) Chattisgarh 4. Bilaspur

Who was the last Governor

General who addressed the

Constituent Assembly ?
(a)
(b)
(c)
(d)

Lord Attlee
Lord Mountbatten
Lord Bentinck

None of the above
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The Indian Constitution is a
(a)
(b)
(c)
(d)

Static Law
Dynamic Law
Rigid Law
Fixed Law

of

Council of

In Parliamentary form
Government the
Ministers are responsible to
(a) The President
(b) The Parliament
(c)

(d)

The Prime Minister

The Supreme Court

Which of the following Act
made the Indian Legislature
Bi-cameral for the first time ?
(a) Government of India Act,
1935

Indian Councils Act, 1909
Government of India Act,
1919

None of the above

(b)
(c)

(d)

The
existence on

(a) January 28, 1950
(b) January 26, 1950
(c) December 9, 1946
(d) None of the above

Supreme Court came into

68.

69.

70.

(25-A)

‘VAT’ 1s levied on
(a)
(b)

directly on consumers

at the final level of the

production.

(c)

at the primary level of the

production.

all

production and final levels.

at levels between

(d)

In which of the following banks,

a person cannot open his

personal account ?
(a)
(b)
(c)
(d)

Urban Cooperative Bank
Regional Rural Bank
Reserve Bank of India

Scheduled
Bank

Commercial

‘Havala’ means

(a) complete details of a

subject.

transaction of

(b) illegal

foreign exchange.

transaction of

(c) illegal

shares.

evasion of tax.

(d)
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“The Golden
Scheme” refers to

(a) Establishment of
ventures

Shake-hand
joint
(b)

(c) Private investment in
public enterprises

Voluntary retirement

(d)

Welcoming
companies

foreign

Dumping means

(a) dumping the surplus goods
in to the market.

(b) charging lower price in

domestic and international

markets.

(c) selling for higher price in
domestic ~ markets by
charging lower price in
international markets.

(d) selling in different prices

to various consumers.

Which of the following is not
related to global warming ?

(a) Green-house effect causes
global warming.

Increase in the heat content
is much greater in the
ocean than any other
source of energy.

(b)

(¢c) Acid rain is caused by
global warming.
(d)

Infrared rays increase the
atmospheric temperature.

27 - A)

74. Read the following sentences

related to ‘Black Hole’ carefully :

a. It is a region of intense

gravitational field.

b. Information comes out in
the form of light or radio

waves.

c. It 1s the remnant of
Supernova explosion of
stars whose mass 1s 30

times as that of Sun.

d. Its presence can be inferred
only from the gravitational
force it exerts on bodies

close to it.

e. The properties of black hole
like temperature, pressure or
chemical composition can

be determined.

Which of the above statements

are true ?
(a) a,b,c (b) b,c,d
(c) c¢,d,e (d) a,c,d



75.

76.

58

Ww0T0  TTY Bemew 60 km
Beossy 30 km h! rvd =onte
So=g wade &3, 80 km BeTEy

20 km h™! Senz® z0aad
(1) B3Oz 3nmdeos 2, T
(i) ROIRD 33, B &BAWD.

(a) 140 h, 50 km h~!
(b) 6h,23.3kmh!
(c) 6h,2kmh!

(d) 4h,233kmh!

33 9N WeANIRY NHZIOOY
BP0 :

l. ZoZwoew —  ©wAoDodE
209023 =OSD 50D

2. o ~  doPog3 FOBP
30339590 3,03

3. ReodE - oug RGO

DTI 30

23000 ﬁ@@@ﬁ@é@ TOOINT BRCVT
nYox3

@ 1,2 =%
®) 1,3 s%g,

© 1,2,3
d) 23 awg,

77.

78.

(28 -A)

03 BeDE ROOIPNG ?

(a) e2833° e WOl WOWEW
DB T

(b) =B W@ wodd TR

DT 2T

(©) 3@%# BT WO TR

DWTE DT

(d) zoedeses® @ 20w
E R 5353539 WODT

023 TOTTITY S

HoR@BEINYY Rongms  wg@en

0TIED WFHED MORT ROMR,TING

mondmen TIOI03T3

(a) ™z =HF domwed Qo)
TR, FoTNDIE.

(b) o2l Sty
Hom@andnoan 53,
TELLWI® YAVTTY BN

BRI,

TONT

(€) Saes BorpmEne DoLoddTos

SRR BRI

(d) &omoeld NI apld
Homa@enw ol wonss,
00 BREIT



75.

76.

58

A car travels a distance 60 km
with a velocity 30 km h~1 and
then 80 km with a velocity
20 km h~! in the same direction.

Calculate :

(1) the total time of journey

and
(1) average velocity
(a) 140h,50 kmh-!
(b) 6h,23.3kmh"!
(c) 6h,2kmh!

(d) 4h,23.3kmh-!

Consider the following pairs :

I. Atom - Uncontrolled
bomb chain reaction
2. Nuclear — Controlled
Reactor chain reaction
3. Sun — Thermo

nuclear fission

Which of above pairs is/are

correctly matched ?
(@) 1,2only (b) 1,3 only

© 1,2,3 (d) 2 & 3only

77.

78.

(29-A)

Which of the statement 1is

incorrect ?

(a) Acetic acid 1s a weak

electrolyte.

(b) Sugar solution is a strong

electrolyte.

(c) Nitric acid is a strong

electrolyte.

(d) Carbonic acid is a weak

electrolyte.

Lemon juice must be contained
in ceramic or glass container
instead of metallic containers

because

(a) glass & ceramics maintain

the lemon juice cooler.

(b) lemon juice  produces
combustible hydrogen gas

with metallic tumblers.

(c) metallic container react

with acids of lemon.

(d) ceramic containers add to

the taste of lemon juice.
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The

polishing the granite is

material used while

1. Asbestos

2. Calcium chloride
3. Silicon carbide
4. Sodium chloride

Select the correct answer using

the codes given below.

Codes :
(a) 3only (b) 4 only
(c) land?2 (d land4

Match List — I with List — II and
select the correct answer using

the codes given below the lists :

List-1 List — IT
(Metals) (Districts)
A. Iron 1. Mysore
B. Gold 2. Hassan
C. Magnesium 3. Bellary
D. Chromium 4. Raichur
Codes :
A B C D
@ 3 1 4 2
b)) 3 2 4 1
¢ 3 4 2 1
@d 3 4 1 2

(31-A)

81.

82.

The process of electro-plating of
one metal over the other metal

results in

1.  Avoiding corrosion.

2. Controls the loss of lustre.
3. Increases the value.

4. Increases the lustre.

Select the correct answer using

the codes given below :

Codes :
(a) 1and?2 (b) 1,2and 4
(¢) 2,3and4 (d) 1,2and3

Which of the statement does not

match  with the organic

compounds ?

1. Boiling points and melting

points are high.
2. Forms ionic bonds
3. All are combustible in air.

4. The of

reaction is slow.

rate chemical

Select the correct answer using

the codes given below.

Codes :
(a) 1and?2 (b) 2and3
(c) 3and4 (d land3
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deadly virus “Ebola”
originated in ‘West Africa’ has
already been affected more than
10,000 people and killed about
6,000 people and is spreading
vigorously each day. There is no

proper medicine yet.

Below are the different means

to prevent this epidemic. Use

the codes given and select the

correct answers.

A. Patients should be kept in
separate room.

B. Avoid direct contact with
the body died from Ebola.

C. Patients should take non-
veg. food only.

D. Doctors no need to wear

glouse or mask while

treating the Ebola patient.
(a) Aand B
(b) AandC
(c) A,BandC

(d) Aand D

84.

8S.

86.

(33-A)

This district in Karnataka has a
‘mega unit’ of “Food Park”
which is known as the best Food
Park of India, where 180 tonnes
of wheat and rice flour is
prepared per day and 250 tonnes
of vegetables and fruits are cut

and preserved
(a) Kolar (b) Mysore

(c) Bangalore (d) Tumkur

“Electroencephalogram” is used
to obtain information regarding

which of the body organs ?
(a) Heart (b) Brain

(c) Kidney (d) Liver

Who is the first Kannadiga to
become the Chief Justice of

Supreme Court ?

(a) M.N. Venkatachalaiaha
(b) E.S. Venkataramaiaha
(c) S.Rajendra Babu

(d) H.L. Dattu
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and Column — II has the years in
which they were implemented.

Choose the right match :
Column -1 Column - 11

A. Regulating 1. 1909
Act

B. Pitt’s India Act 2. 1919

C. Minto-Morley 3. 1784
Reforms

D. Montague- 4. 1773
Chelmsford
Reforms

Codes :
A B C D

@ 3 2 4 1

b 4 3 1 2

c 2 4 3 1

@d 4 1 2 3

“A  Voice for Freedom” is

written by

(a) R.K. Narayan

(b) K.R. Narayanan
(c) M.K. Gandhi

(d) Nayantara Sehgal

Honey-bees search for special
flowers to collect nectar
what 1s the

present in it ?

(honey), sugar

(b) Sucrose
(d) Maltose

(a) Glucose

(c) Fructose

90. Which of the following measure

91.

92.

(35-A)

will increase the money supply in
the market ?
(a) Through purchase of public

securities from people by

banks.

(b) By investing money as
deposits in public sector
banks by people.

(c) Through raising loans from
central (RBI) banks by the
Government.

(d) Through RBI

public securities to the public.

selling its

The five rings on Olympic flag
represents

(a) Five colours

(b) Five games

(c) Five continents

(d) Five countries

Who

actors has not been conferred

among the following

with the prestigious “Dadasaheb
Phalke Award” ?

(a) Dev Anand

(b) Rajkumar

(c) Amitabh Bachchan
(d) Ashok Kumar
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Which of

Constitution of India has been

Article the

called the very soul of the

Constitution ?
(a) Article 19 (b) Article 14
(c) Article21 (d) Article 32

which

heavy water is used as neutron

In a nucleus reactor,

moderator ?
(a) Deuterium (b) Protium

(c) Tritium (d) Helium

The temperature which is also

called Absolute zero 1s
(a) 0°C (b) O°F
(c) -273°C (d) 273K

A small quantity of “bleaching
powder” falls on wet silk cloth.
The colour of the cloth vanishes
on the spot where the powder
was fallen. This is due to

(a) oxidation of the colouring
matter.

(b)

reduction of the colouring

matter.
(c)
(d)

hydrolysis.

chemical decomposition.

97.

98.

99.

100.

(37-A)

‘Sports’ is related to ‘Logo’ in

the same way as ‘Nation’ is

related to
(a) Emblem (b) Animal
(c) Ruler (d) Anthem

If XY = 600, ABC = 6 then
GO + DO will be equal to

(a) 150 (b) 180
) 165 d) 155

Three

integers are such that the square

consecutive  positive
of their sum exceeds the sum of
their squares by 214. Which are

those integers ?

(a 6,7,8 (b)y 4,5,6
c) 7,8,9 (d) 5,6,7
Glass will crack if it 1s

suddenly heated or cooled

because of its
(a) Bad conducting nature and
high co-efficient of

expansion.
(b)
(c)
(d)

Transparency
Plasticity
Density
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